Calculation task Ne 1.

Determine the density of washing liquid if the depth of productive formation is
2140 m. Formation pressure in it is 20.6 MPa. Coefficient of safety changes within the
range 1.05 — 1.15. Instruction: take the magnitude of coefficient of safety depending on
the depth of the well (by the vertical) to the middle of perforation interval.

Data:
H=2140 m
Pr =20.6 MPa

Determine : Pyl ?

Solution

The density of washing liquid is determined by means of the formula:

£ (1)

=Ko —1L
STeH

Pwl.
where Py 1 is the density of washing liquid, kg/m?; Pr is formation pressure, Pa; H is the
depth of productive formation (the depth of the well to the middle of perforation interval),

m; kgis coefficient of safety.

The magnitude of coefficient of safety is taken depending on the well depth.

If H>1200 m coefficient of safety ks should be taken within the range 1.05 —1.1.
So finally we take ks = 1.075.

So

6
_1.075.20-010° _ kg/m’.

Pyw.l. 981.2140

Answer: p_ | = kg/m’,



